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QUESTION 1

Consider these global status variables: Which two conclusions can be made from the output? (Choose two.)

mysgl> SELECT *
FER.OM performace schema global status
WHERE VARTABLE NAME LIKE “%sconnection?s’
OR. VARIABLE NAME LIKE *%thread%’;

=

L - - e B B . A A B i ™

| VARIABLE_NAME | VARIABLE _VALUE

TR + +
| Connection_errors_accept [0 !
| Connection_errors_internal | 6 ;
| Connection errors max connections [0
| Connections_errors_peer_address | O i
| Connection_errors_select | 0 I
| Connection_errors_tcpwrap | O i
| Connections | 510 |
| Delayed_insert threads |0 !
| Max_used_connections | 145 :
| Max used connections time | 2018-03-22 14:54:06 i
| Performance_schema_thread_classes_lost |0

| Performance_schema_taread_instances_lost | O .
| Slow_launch_threade | 0 i
| Threads_cached | 6

| Threads_connected | 140 .
| Threads_created | 155 i
| Threads running | 14 I

B T ——————— - T— e — - - - —————

17 rows n set (0.00 sec)

A. There are 140 Performance Schema threads at the time of the output.

B. There are 510 connections to MySQL at the time of the output.

C. The thread cache has been configured with thread_cache_size set to at least 6.
D. There are more connections being idle than executing queries.

E. All max_connections were in use at 2018-03-22 14:54:06
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Correct Answer: BD

QUESTION 2

You created a backup of the world database with this command: shell> mysgldump --opt world > dump.sql
Which two will import the data from dump.sgl? (Choose two.)

A. shell> mysgladmin recover test dump.sql

B. shell> mysql test

C. shell> mysqlimport test dump.sql

D. mysql> USE test; mysql> LOAD DATA INFILE “dump.sql\\';

E. mysql>USE test; mysql>SOURCE dump.sql;

Correct Answer: CD

QUESTION 3

Consider that local disk files are accessible via MySQL with commands such as: mysql> LOAD DATA LOCAL INFILE
“letc/passwd\\' INTO TABLE mypasswords; What change could be made to stop any breach via this insecurity?

A. executing REVOKE LOAD FROM *.*

B. setting the --local-service=0 option when starting mysqld
C. executing REVOKE FILE FROM *_*

D. executing REVOKE FILE ON *_* FROM " “@\\'%\\'

E. setting the --local-infile=0 option when starting mysqld

F. setting the --open-files-limit=0 option when starting mysqld

Correct Answer: F

QUESTION 4
You want to create the first configuration file for a new installation of MySQL.
1.

You will start mysgld manually (not automate it to start when the host machine starts or execute as a service).

2.

You will stop mysqld using mysgladmin.
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3.
You will interact with mysqgld by using only the command-line client mysq|.

Which option identifies a maximal set of sections where you can put the "max_allowed_packet=16M" parameter without
creating a problem?

A. [mysql] and [mysqld] and [mysqgladmin]
B. [mysql] and [mysgladmin]

C. [mysql]

D. [mysqld]

E. [mysqld] and [mysgladmin]

F. [mysgladmin]

G. [mysql] and [mysqld]

Correct Answer: C

Reference: https://dev.mysqgl.com/doc/refman/8.0/en/program-variables.html

QUESTION 5

MySQL is installed on a Linux server and has this configuration:

[mysqld]

user=mysq|

datadir=/data/mysql/

As the ‘root’ user, you change the datadir location by executing:

shell> cp —R /var/lib/mysql /data/mysql/

shell> chown —R mysql /data/mysq|

What is the purpose of changing ownership of datadir to the ‘mysql’ user?
A. MySQL needs to be run as the root user, but files cannot be owned by it.
B. The mysqld process requires all permissions within datadir to be the same.
C. MySQL cannot be run as the root user.

D. MySQL requires correct file ownership while remaining secure.

Correct Answer: A
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